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OxdEa/ATEAA 588,000
=z 480,000
= 108,000
OF=MNEEXNHEAE 150,000
2 150,000
AU = A 211,000 168,450 42,550
= 27,500
= 183,500
202 04 d| 2,000 4,450 N 2,450
01 2L Y| 2,000 4,450 N 2,450
OxdtEg g8 22 A& 2,000
308 AKX SHAHSOIA 59,000 64,000 A5,000
= 27,500
& 31,500
01 AIXHHBAAEXZ 31,500 36,500 A5,000
Ost=MAMAME 2SsXA 31,500
06 EI2HUStEEX= 27,500 27,500 0
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= 27,500
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01 RXSH KL% 100,000 100,000 0
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02 3J|2 S 0l CH St CH & AF R B 50,000 0 50,000
Ozt gddzold =4H40tE 50,000
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308 X SHAMSOIA 38,000 29,000 9,000
01 HXHHNBIMNEXTS 38,000 29,000 9,000
Ozx=NZ2 HAXH B3 N3 29,000
OXRZHEBS & XN 9,000
403 XXM S K201 A 345,000 424,000 AT79,000
01 AXSHNMAHEBEE = 345,000 424,000 AT79,000
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02 2B AEXS 9,000 9,000 0
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o 1,861,466
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OfHE 84 XA 35,000
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2 4,000,000
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401 Al HI L 204 HI 4,525,000 3,325,000 1,200,000
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£ 452,500
01 Al&H| 4,518,710 3,313,030 1,205,680
OB =E=AEAY 4,518,710
2 3,614,968
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= 380,000
< 97,500
02 S| 2SO0l CHSHCH & A B 477,500 0 477,500
ONE0 =22 135,000
2 120,000
< 15,000
OB = X XA 50,000
Oz x4y 292,500
2 260,000
< 32,500
MR ES Y2 22,000 0 22,000
= 22,000
403 UHtXSHHSA=0l& 22,000 0 22,000
= 22,000
01 XM A=2E X 22,000 0 22,000
OIS 2G 2L 22,000
= 22,000
SAEZ2CAY 2,530,700 1,673,800 856,900
2 2,020,000
< 510,700
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2 450,000
= 16,875
OgAHERLZ AX 518,750
2 500,000
= 18,750
OLMNBNSHAIL &X 41,500
z 40,000
= 1,500
HEFANFRES X 35,000 35,000 0
= 35,000
403 MtXISHH S K201 35,000 35,000 0
= 35,000
01 AIXISHM A 22X 35,000 35,000 0
onedesx 22X 35,000
= 35,000
SAEH BENA ALY 200,000 250,000 250,000
Dl 200,000
403 XX S S K201 A 200,000 250,000 250,000
J| 200,000
01 AXSHNMAHEE = 200,000 250,000 250,000
OSAIE SHHMA Al 200,000
Jl 200,000
M (&) FHAY 35,400 0 35,400
= 30,000
& 5,400
308 X SHAMSOIA 35,400 0 35,400
= 30,000
& 5,400
01 AXHHNIMNEXS 35,400 0 35,400
OIS (%) HAL 35,400
= 30,000
= 5,400
SEAAMOI(LAL) 4 1,302,000 0 1,302,000
= 1,050,000
o= 252,000
403 XX SHH S K201 1,302,000 0 1,302,000
= 1,050,000
o= 252,000
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= 3,000,000
< 900,000
01 XM A=2EE 3,900,000 0 3,900,000
Oget =& ZdAY X3 3,900,000
2 3,000,000
< 900,000
E.0g Heg 20,594,427 16,067,358 4,527,069
= 36,000
z 17,640,000
< 2,918,427
Agoig A4 18,966,000 14,857,500 4,108,500
2 16,560,000
< 2,406,000
401 Al HIZL 20 HI 18,966,000 14,857,500 4,108,500
= 16,560,000
< 2,406,000
01 A& Hl 18,936,000 14,827,500 4,108,500
oxgog A4 18,536,000
& 16,536,000
= 2,000,000
oXgolg Jig & AANEAHEY 400,000
03 Al 204 30,000 30,000 0
oxgog A4 30,000
& 24,000
< 6,000
222X & 395,000 0 395,000
403 MHXSHHSA=0l& 395,000 0 395,000
01 HXSHMA=LE X 395,000 0 395,000
OLng E22 X 395,000
HEMEOISZ Y 803,427 622,858 180,569
= 36,000
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< 87,427
403 MtXISHHE X201 & 803,427 622,858 180,569
= 36,000
& 680,000
< 87,427
01 XS M A=2EE 803,427 622,858 180,569
OWEXNELE AIRE HE & 36,000
= 36,000
OWENELNs =4 767,427
& 680,000
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o= 30,000
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01 AP 22| d| 43,200 43,200 0
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01 2L Y| 43,200 43,200 0
O%d8E QI xx 43,200
203 R F & 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
O =41} 4,200




